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PART—I

( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in

the blanks with suitable articles like

‘a’, ‘an’ and ‘the’ :

1. In this school, all _____ students

are given free education.

(A) an

(B) a

(C) the

(D) More than one of the above

(E) None of the above

2. I have a friend in Mumbai who

is _____ actress.

(A) a

(B) an

(C) the

(D) More than one of the above

(E) None of the above

3. Which of the following is not

a river?

(A) Bay of Bengal

(B) Godavari

(C) Ganga

(D) More than one of the above

(E) None of the above

4. Which of the following is not

a part of drawing room?

(A) Washing machine

(B) Chimney

(C) Sofa set

(D) More than one of the above

(E) None of the above

5. Today is Sunday. The day before

yesterday was

(A) Tuesday

(B) Friday

(C) Thursday

(D) More than one of the above

(E) None of the above

6. November comes after the

month of

(A) September

(B) December

(C) January

(D) More than one of the above

(E) None of the above

7. Husband’s brother is

(A) cousin

(B) son

(C) brother-in-law

(D) More than one of the above

(E) None of the above

8. Mother’s parents are

(A) son-in-laws

(B) maternal grandparents

(C) paternal grandparents

(D) More than one of the above

(E) None of the above
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9. {ZÂZ{b{IV _| go H$m°Z-gm "‡À``-a{hV'
e„X h°?

(A) PwH$md

(B) ^md{dàb

(C) CÑoIZr`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

10. ^mfm H$s Cn`w∫$ n[a^mfm h°

(A) {dMma `m ^md ‡H$Q> H$aZo dmbm gmW©H$
‹d{Zg_yh ^mfm H$hbmVm h°

(B) {dMma `m ^md H$mo {b{n-{Mïm| _| ‡H$Q>
H$aZo H$mo ^mfm H$hVo h¢

(C) {dMma `m ^md ‡H$Q> H$aZo H$m gmYZ
^mfm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

11. Òda Ho$ {H$VZo ‡H$ma h¢?

(A) Xmo

(B) VrZ

(C) Mma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

12. ıÒd Òda H$m°Z-gm h°?

(A) A

(B) Am

(C) B©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

13. CÉmaU Ho$ AmYma na Ï`ßOZm| H$m dJuH$aU
{H$VZo ^mJm| _| {H$`m Om gH$Vm h°?

(A) N>Ö

(B) gmV

(C) AmR>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

14. "AÎn‡mU' ‹d{Z H$m°Z-gr h°?

(A) I

(B) M

(C) N>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

15. "Kmof' ‹d{Z H$m°Z-gr h°?

(A) J

(B) O

(C) Y

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

16. Òneu Ï`ßOZ h°

(A) n

(B) \$

(C) _

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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17. "A{æ' e„X H$m {deofU h°

(A) AmJ•hr

(B) Amæo`

(C) Am{æH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

18. ‡Hß$nr Ï`ßOZ h°

(A) e

(B) g

(C) a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

19. AY© Òda h°

(A) `

(B) d

(C) ãS>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

20. MdJ© H$m Ï`ßOZ h°

(A) N≤>

(B) O≤

(C) P≤

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

21. (H$) Ho$H$s, (I) {dhßJ, (J) IJ,
(K) {nH$ {dH$Înm| _| go H$m°Z-gm `wΩ_ "njr'
Ho$ n`m©` H$m h°?

(A) (H$) Am°a (I)

(B) (I) Am°a (J)

(C) (J) Am°a (K)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

22. {dbmo_ e„X H$m H$m°Z-gm `wΩ_ ghr h°?

(A) H$mnwÈfçH$m`a

(B) Hw$ÀgmçqZXm

(C) gH$bç{dH$b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

23. {ZÂZ{b{IV _| go H$m°Z-gm dmä` Aew’ h°?

(A) `h H$hZm AmnH$s JbVr h°ü&

(B) MaIm MbmZm Mm{hEü&

(C) _wPgo `h H$m_ gß^d Zhtü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

24. aMZm Ho$ AmYma na H$m°Z-gm {dH$În dmä` H$m
^oX Zht h°?

(A) Cndmä`

(B) gab dmä`

(C) gß`w∫$ dmä`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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25. {OZ e„Xm| go ›`yZVm, bKwVm, hrZVm `m
Vw¿N>Vm H$m ~moY hmo, Cgo ä`m H$hVo h¢?

(A) D$ZmW©H$ e„X

(B) EH$mWu e„X

(C) AZoH$mWu e„X

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

26. "{Ogo ~wbm`m Z J`m hmo' dmä`mße Ho$ {bE
‡`w∫$ EH$ e„X ä`m hmoJm?

(A) AZmg∫$

(B) AXo`

(C) AZmhˇV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

27. gßkm H$s _mn-Vm°b H$m ~moY H$amZo dmbo
{deofU H$hbmVo h¢

(A) gßª`mdmMH$

(B) n[a_mUdmMH$

(C) gmd©Zm{_H$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

28. aMZm Ho$ AmYma na "Ob' e„X {H$g H$mo{Q>
H$m h°?

(A) Í$ãT> e„X

(B) `m°{JH$ e„X

(C) `moJÍ$ãT> e„X

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

29. {ZÂZ{b{IV _| go H$m°Z-gm _m{ÃH$ N>›X h°?

(A) Xmohm

(B) gmoaR>m

(C) Bß–dO´m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

30. ""C{XV CX`{J[a _ßM na aKwda ~mb nVßJü&
{~H$go gßV gamoO g~ hafo bmoMZ ^•ßJü&&''

Cn`w©∫$ Xmoho _| H$m°Z-gm AbßH$ma h°?

(A) Í$nH$

(B) Cn_m

(C) CÀ‡ojm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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PART—II

( GENERAL STUDIES )

31. The cost of 5 bats and 18 balls is

R6,500 and the cost of 2 bats

and 20 balls is R4,200. What

are the costs of one bat and one

ball respectively?

(A) R850, R125

(B) R630, R115

(C) R780, R150

(D) More than one of the above

(E) None of the above

32. A shopkeeper purchases an item

at R615 and sells it at R820.

What is his percentage profit?

(A) 25%

(B) 33·33%

(C) 35·50%

(D) More than one of the above

(E) None of the above

33. A hacker finds that the ATM PIN

of a person has first two digits

ranging from 3 to 8, and the

fourth digit is either 0 or 9. How

many attempts must the hacker

try in order to decode the PIN?

(A) 48

(B) 24

(C) 720

(D) More than one of the above

(E) None of the above

34. The lengths of two sides of a

triangle are 8 cm and 9 cm, and

its area is 12 5 2cm . What is

the length of the third side?

(A) 5 cm

(B) 9 cm

(C) 7 cm

(D) More than one of the above

(E) None of the above

35. There are 50 numbers. Each

number is subtracted from 53,

and the mean of the numbers so

obtained is found to be - ×3 5.

The mean of the given numbers

is

(A) 56·5

(B) 53·5

(C) 49·5

(D) More than one of the above

(E) None of the above
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PART—II

( GENERAL STUDIES )

31. 5 ~Ñm| Am°a 18 J|Xm| H$s H$s_V R6,500 h°
VWm 2 ~Ñm| Am°a 20 J|Xm| H$s H$s_V
R4,200 h°ü& EH$ ~Ñm Am°a EH$ J|X H$s
H$s_V| h¢, H´$_eÖ

(A) R850, R125

(B) R630, R115

(C) R780, R150

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

32. EH$ XwH$mZXma {H$gr dÒVw H$mo R615 _|
IarXVm h° Am°a Cgo R820 _| ~oM XoVm h°ü&
CgH$m ‡{VeV _wZmµ\$m {H$VZm h°?

(A) 25%

(B) 33·33%

(C) 35·50%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

33. EH$ h°H$a nVm bJmVm h° {H$ EH$ Ï`{∫$ Ho$
ATM PIN Ho$ nhbo Xmo AßH$ 3 go 8 VH$
H$s gßª`mAm| _| go h°ß, Am°a Mm°Wm AßH$ 0 `m
9 h°ü& Cg h°H$a H$mo PIN H$m nVm H$aZo Ho$
{bE {H$VZo ‡`mg H$aZo nãS>oßJo?

(A) 48

(B) 24

(C) 720

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

34. EH$ {Ã^wO H$s Xmo ^wOmAm| H$s bß~mB`m±
8 go0 _r0 Am°a 9 go0 _r0 h¢ VWm BgH$m

joÃ\$b 12 5 dJ© go0 _r0 h°ü& BgH$s Vrgar

^wOm H$s bß~mB© ä`m h°?

(A) 5 go0 _r0

(B) 9 go0 _r0

(C) 7 go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

35. 50 gßª`mE± Xr h˛B© h°ßü& ‡À`oH$ gßª`m H$mo 53

go KQ>m`m J`m h° Am°a Bg Vah ‡m· gßª`mAm|
H$m _m‹` - ×3 5 h°ü& Xr JB© gßª`mAm| H$m
_m‹` h°

(A) 56·5

(B) 53·5

(C) 49·5

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



36. The ratio of the ages of two

brothers is 4 : 3. If the elder

brother is 6 years older than the

younger one, then their ages (in

years) are

(A) 24, 18

(B) 36, 30

(C) 15, 9

(D) More than one of the above

(E) None of the above

37. The value of
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-1

(B)
1
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(D) More than one of the above

(E) None of the above

38. The quadratic equation with

roots -1 and 4 is

(A) x x2 3 4 0- - =

(B) x x2 3 3 0+ + =

(C) x x2 4 1 0- + =

(D) More than one of the above

(E) None of the above

39. The Sun observation point of

Aditya-L1 satellite is

(A) L1

(B) L2

(C) L3

(D) More than one of the above

(E) None of the above

40. Ginger is an underground stem

and not a root because

(A) it stores food material

(B) it has nodes and inter-

nodes

(C) it lacks chlorophyll

(D) More than one of the above

(E) None of the above

41. The focal length of a convex lens

is f L = 10 cm. On immersing in

water, it will act as a

(A) convex lens of f L = 10 cm

(B) concave lens of f L = 10 cm

(C) convex lens of f L > 10 cm

(D) More than one of the above

(E) None of the above
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36. Xmo ^mB`m| H$s C_´m| H$m AZwnmV 4 : 3 h°ü& `{X
~ãS>m ^mB©, N>moQ>o ^mB© go 6 df© ~ãS>m h°, Vmo XmoZm|
^mB`m| H$s C_´ (df© _|) h¢

(A) 24, 18

(B) 36, 30

(C) 15, 9

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

37. 1
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H$m

_mZ h°

(A)
n

n

-1
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1

n
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(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

38. _ybm| -1 Am°a 4 dmbm {¤KmV g_rH$aU h°

(A) x x2 3 4 0- - =

(B) x x2 3 3 0+ + =

(C) x x2 4 1 0- + =

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

39. Am{XÀ`-L1 CnJ´h H$m gy`© AdbmoH$Z
{~›Xw h°

(A) L1

(B) L2

(C) L3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

40. AXaH$ EH$ ^y{_JV VZm h° Edß OãS> Zht h°,
ä`m|{H$

(A) `h Im⁄-gm_J´r H$m ^�S>maU H$aVm h°

(B) Bg_| Jm±R> Edß nd© hmoVo h¢

(C) Bg_| äbmoamo{\$b H$s H$_r hmoVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

41. EH$ CŒmb b|g H$s \$moH$g Xyar
f L = 10 go0 _r0 h°ü& nmZr _| Bgo Sw>~moZo na
`h H$m`© H$aoJm

(A) f L = 10 go0 _r0 Ho$ EH$ CŒmb b|g
H$s Vah

(B) f L = 10 go0 _r0 Ho$ EH$ AdVb b|g
H$s Vah

(C) f L > 10 go0 _r0 Ho$ EH$ CŒmb b|g
H$s Vah

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



42. Though water is transparent to

visible light, it is not possible to

see distant objects in fog which

consists of fine drops of water.

This is so because

(A) fine drops of water are

opaque to visible light

(B) most of the light is scattered

to create apparent opacity

(C) light rays suffer total

internal reflection and so

unable to reach observer’s

eyes

(D) More than one of the above

(E) None of the above

43. Monochromatic light enters from

one medium to the other. Which

one of the following properties

does not change?

(A) Frequency

(B) Amplitude

(C) Velocity

(D) More than one of the above

(E) None of the above

44. The speed of an electron in the

orbit of the hydrogen atom in

the ground state is

(A) c

(B) c/2

(C) c/137

(D) More than one of the above

(E) None of the above

45. A blackbody radiates energy at

the rate of E watt per metre2 at

a high temperature T K. When

the temperature is reduced to

T /3 K, the radiant energy

(in watt per metre2) will be

(A) E /16

(B) E /27

(C) E /81

(D) More than one of the above

(E) None of the above

46. The acid which can destroy the

colour of acidic KMnO4 is

(A) CH COOH3

(B) C H O6 8 7

(C) CH CH COOH3 2

(D) More than one of the above

(E) None of the above
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42. hmbm±{H$ —Ì` ‡H$me _| Ob nmaXe©H$ hmoVm h°,
XyaÒW dÒVwAm| H$mo Ob H$s _hrZ ~y±Xm| go
{Z{_©V H$mohao _| Zht XoIm Om gH$Vmü& `h
Bg{bE hmoVm h°, ä`m|{H$

(A) —Ì` ‡H$me _| Ob H$s _hrZ ~y±Xßo
AnmaXeu hmoVr h°ß

(B) A{YH$Va ‡H$me {~IaH$a Am^mgr
AÒnÔ>Vm {Z{_©V H$aVm h°

(C) ‡H$me {H$aUm| H$m nyU© AmßV[aH$ namdV©Z
hmoZo go do ‡ojH$ H$s Am±Im| VH$ Zht
nh˛±M nmVr h°ß

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

43. EH$dUu ‡H$me EH$ _m‹`_ go Xygao _m‹`_ _|
‡doe H$aVm h°ü& {ZÂZ{b{IV _| go H$m°Z-gm
JwU Zht ~XbVm h°?

(A) Amd•{Œm

(B) Am`m_

(C) doJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

44. {ZÂZV_ AdÒWm _| hmBS¥>moOZ na_mUw H$s H$jm
_| EH$ BboäQ¥>m∞Z H$s Mmb hmoVr h°

(A) c

(B) c/2

(C) c/137

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

45. EH$ H•$pÓUH$m EH$ CÉ VmnH´$_ T K na
E dmQ> ‡{V dJ© _rQ>a H$s Xa go D$Om© H$m
{d{H$aU H$aVr h°ü& O~ T /3 K VmnH´$_ H$a
{X`m OmE, Vmo {d{H$[aV D$Om© (dmQ> ‡{V
dJ© _rQ>a _|) hmoJr

(A) E /16

(B) E /27

(C) E /81

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

46. AÂb, Omo AÂbr` KMnO4 H$m aßJ ZÔ> H$a
gH$Vm h°, h°

(A) CH COOH3

(B) C H O6 8 7

(C) CH CH COOH3 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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47. Who was the writer of ‘Banglar

Mati, Banglar Jal’, which was

originally a protest song against

the Partition of Bengal in 1905

by Lord Curzon, and for which

the West Bengal Assembly

passed a resolution as the new

State Anthem recently?

(A) Kazi Nazrul Islam

(B) Rabindranath Tagore

(C) Sukanta Bhattacharya

(D) More than one of the above

(E) None of the above

48. Who is the architect of the new

Parliament of India building

inaugurated recently?

(A) Bimal Patel

(B) Rahul Mehrotra

(C) Yogesh Kapoor

(D) More than one of the above

(E) None of the above

49. Which one of the following

Indian films was screened at

the 76th Cannes Film Festival

in May 2023?

(A) Anurag Kashyap’s Kennedy

(B) Kanu Behl’s Agra

(C) Neeraj Pandey’s Khakee

(D) More than one of the above

(E) None of the above

50. Azali Assoumani, who attended

the G20 Summit in New Delhi as

the current Chairperson of the

African Union which has

become the newest member of

G20, is the President of which

country in the African Union?

(A) Republic of the Congo

(B) Gabon

(C) Comoros

(D) More than one of the above

(E) None of the above

51. When is the ‘Human Rights Day’

celebrated annually?

(A) 10th November

(B) 10th December

(C) 24th October

(D) More than one of the above

(E) None of the above
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47. "~mßΩbma _mQ>r, ~mßΩbma Ob' Ho$ boIH$ H$m°Z
Wo, Omo _yb Í$n go 1905 _| bm∞S>© H$O©Z ¤mam
~ßJmb Ho$ {d^mOZ Ho$ {Ibm\$ EH$ {damoY-JrV
Wm, Am°a {OgHo$ {bE npÌM_ ~ßJmb {dYmZ
g^m Zo hmb hr _| ZE am¡` JmZ Ho$ Í$n _|
EH$ ‡ÒVmd nm[aV {H$`m h°?

(A) H$mOr ZOÍ$b BÒbm_

(B) adr›–ZmW Q>°Jmoa

(C) gwH$mßV ^≈>mMm`©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

48. hmb hr _| CX≤Km{Q>V {H$E JE ^maV Ho$ ZE
gßgX ^dZ Ho$ dmÒVwH$ma H$m°Z h¢?

(A) {~_b nQ>ob

(B) amh˛b _ohamoÃm

(C) `moJoe H$nya

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

49. 76d| H$m›g {\$Î_ _hmoÀgd, _B© 2023 _o|,
{ZÂZ{b{IV _| go H$m°Z-gr ^maVr` {\$Î_
‡X{e©V H$s JB©?

(A) AZwamJ H$Ì`n H$s Ho$ZoS>r

(B) H$Zw ~hb H$s AmJam

(C) ZraO nmßS>o H$s ImH$s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

50. AµOmbr Agm°_mZr, {O›hm|Zo A\´$sH$s gßK Ho$
dV©_mZ A‹`j Ho$ Í$n _| ZB© {XÑr _| G20

{eIa gÂ_obZ _| ^mJ {b`m, Omo G20 H$m
g~go Z`m gXÒ` ~Z J`m h°, do A\´$sH$s gßK
Ho$ {H$g Xoe Ho$ amÔ¥>n{V h¢?

(A) H$mßJmo JUam¡`

(B) J°~Z

(C) H$mo_moamog

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

51. "_mZd A{YH$ma {Xdg' ‡{Vdf© H$~ _Zm`m
OmVm h°?

(A) 10 ZdÂ~a

(B) 10 {XgÂ~a

(C) 24 A∫y$~a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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52. Who was the founder of ‘Indian

National Army (INA)’?

(A) Subhash Chandra Bose

(B) Mohan Singh

(C) Lala Lajpat Rai

(D) More than one of the above

(E) None of the above

53. ‘ Tana Bhagat Movement’ was

related to

(A) Dalit Movement

(B) Tribal Movement

(C) Peasant Movement

(D) More than one of the above

(E) None of the above

54. In which State is ‘Raksha

Bandhan’ celebrated as ‘ Tree

Safety Day’?

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Bihar

(D) More than one of the above

(E) None of the above

55. In which of the following states

is black soil found?

(A) Karnataka

(B) Gujarat

(C) Uttarakhand

(D) More than one of the above

(E) None of the above

56. How many types of species of

flora and fauna are there in

India?

(A) 81000 species of fauna and

47000 species of flora

(B) 70000 species of fauna and

50000 species of flora

(C) 50000 species of fauna and

40000 species of flora

(D) More than one of the above

(E) None of the above
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52. "^maVr` amÔ¥>r` goZm (AmB0 EZ0 E0)' Ho$
gßÒWmnH$ H$m°Z Wo?

(A) gw^mf M›– ~mog

(B) _mohZ qgh

(C) bmbm bmOnV am`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

53. "VmZm ^JV Am›XmobZ' gÂ~p›YV h°

(A) X{bV Am›XmobZ go

(B) Am{Xdmgr Am›XmobZ go

(C) {H$gmZ Am›XmobZ go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

54. {H$g am¡` _|, "ajm~›YZ' H$mo "d•j gwajm
{Xdg' Ho$ Í$n _| _Zm`m OmVm h°?

(A) _‹` ‡Xoe

(B) CŒma ‡Xoe

(C) {~hma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

55. {ZÂZ{b{IV _| go {H$g am¡` _| H$mbr {_≈>r
nmB© OmVr h°?

(A) H$Zm©Q>H$

(B) JwOamV

(C) CŒmamI�S>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

56. ^maVdf© _| dZÒn{V Edß Ordm| H$s {H$VZr
‡Om{V nmB© OmVr h°ß?

(A) 81000 ‡Om{V Ordm| H$s Edß
47000 ‡Om{V dZÒn{V H$s

(B) 70000 ‡Om{V Ordm| H$s Edß
50000 ‡Om{V dZÒn{V H$s

(C) 50000 ‡Om{V Ordm| H$s Edß
40000 ‡Om{V dZÒn{V H$s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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57. Minerals are deposited and

accumulated in the strata of

which of the following rocks?

(A) Sedimentary rocks

(B) Metamorphic rocks

(C) Igneous rocks

(D) More than one of the above

(E) None of the above

58. Which one of the following is a

leguminous crop?

(A) Pulse

(B) Jowar

(C) Millet

(D) More than one of the above

(E) None of the above

59. Which two of the following

extreme locations are connected

by the East-West Corridor?

(A) Mumbai and Nagpur

(B) Mumbai and Kolkata

(C) Silchar and Porbandar

(D) More than one of the above

(E) None of the above

60. Stalactite and stalagmite

structures are formed by

(A) wind action

(B) underground water

(C) snow action

(D) More than one of the above

(E) None of the above

61. April 22 is celebrated as the

(A) World Earth Day

(B) World Health Day

(C) World Ozone Day

(D) More than one of the above

(E) None of the above

62. Topographical map of India is

prepared by which organization?

(A) The Geological Survey of

India

(B) The Survey of India

(C) The Zoological Survey of

India

(D) More than one of the above

(E) None of the above
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57. I{ZO {ZÂZ{b{IV _| go {H$g M≈>mZ Ho$ ÒVa
_| O_m hmoVm h°?

(A) AdgmXr M≈>mZ

(B) Í$nm›V[aV M≈>mZ

(C) Amæo` M≈>mZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

58. {ZÂZ{b{IV _| go H$m°Z-gr EH$ \$brXma
\$gb h°?

(A) XbhZ

(B) ¡dma

(C) ~mOam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

59. {ZÂZ{b{IV _| go H$mo°Z-go Xmo Ma_ ÒWmZ
nyd©-npÌM_r J{b`mao go OwãS>o h¢?

(A) _wÂ~B© Am°a ZmJnwa

(B) _wÂ~B© Am°a H$mobH$mVm

(C) {gÎMa Am°a nmoa~›Xa

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

60. ÒQ>°boäQ>mBQ> Edß ÒQ>°boΩ_mBQ> ÒWbmH•${V`m±
~ZVr h°ß

(A) ndZ ¤mam

(B) ^y{_JV Ob ¤mam

(C) ~\©$ ¤mam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

61. 22 A‡°b H$mo {H$g Í$n _| _ZmVo h¢?

(A) {dÌd n•œdr {Xdg

(B) {dÌd ÒdmÒœ` {Xdg

(C) {dÌd AmoµOmoZ {Xdg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

62. ^maV H$m ÒWbmH•${VH$ _mZ{MÃ {H$g gßJR>Z
¤mam ~Zm`m OmVm h°?

(A) ^maVr` ^yd°km{ZH$ gd}jU

(B) ^maVr` gd}jU

(C) ^maVr` ‡m{U gd}jU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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63. Who first described the Revolt of

1857 as the ‘First Indian War of

Independence’?

(A) V. D. Savarkar

(B) Bal Gangadhar Tilak

(C) R. C. Majumdar

(D) More than one of the above

(E) None of the above

64. Which of the following events

happened first?

(A) Santhal Rebellion

(B) Rebellion of Birsa Munda

(C) Tana Bhagat Movement

(D) More than one of the above

(E) None of the above

65. Which revolt is mentioned in

Bankim Chandra Chatterjee’s

novel, Anandamath?

(A) Sannyasi

(B) Pagalpanthi

(C) Indigo

(D) More than one of the above

(E) None of the above

66. When were ‘Swadeshi’ and

‘Boycott’ first adopted as forms

of struggle in India?

(A) Partition of Bengal

(B) Home Rule Movement

(C) Non-Cooperation Movement

(D) More than one of the above

(E) None of the above

67. Who was the President of the

Indian National Congress at the

Gaya Session of 1922?

(A) Chittaranjan Das

(B) Hakim Ajmal Khan

(C) Mahatma Gandhi

(D) More than one of the above

(E) None of the above

68. Who led the peasants of Bihar

during the Non-Cooperation

Movement?

(A) Raj Kumar Shukla

(B) Swami Vidyanand

(C) Rajendra Prasad

(D) More than one of the above

(E) None of the above

69. Who founded Hindu College at

Calcutta in 1817?

(A) Henry Vivian Derozio

(B) David Hare

(C) Jonathan Duncan

(D) More than one of the above

(E) None of the above

70. Who among the following said

that “Congress is to tottering to

its fall and one of my great

ambitions while in India is to

assist it to a peaceful demise”?

(A) Dufferin

(B) Minto

(C) Curzon

(D) More than one of the above

(E) None of the above
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63. 1857 Ho$ {d–moh H$mo {H$gHo$ ¤mam nhbr ~ma
"‡W_ ^maVr` ÒdVßÃVm gßJ´m_' Ho$ Í$n _|
d{U©V {H$`m J`m Wm?

(A) dr0 S>r0 gmdaH$a

(B) ~mb JßJmYa {VbH$

(C) Ama0 gr0 _Oy_Xma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

64. {ZÂZ{b{IV _| go H$m°Z-gr KQ>Zm g~go
nhbo h˛B©?

(A) g›Wmb {d–moh

(B) {~agm _wßS>m H$m {d–moh

(C) VmZm ^JV Am›XmobZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

65. ~ß{H$_ M›– MQ>Ou H$m Cn›`mg, AmZ›X_R> _|
{H$g {d–moh H$m CÑoI h°?

(A) gß›`mgr

(B) nmJbnßWr

(C) Zrb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

66. ‡W_ ~ma gßKf© Ho$ VarH$m| Ho$ Í$n _| "ÒdXoer'
Edß "~{hÓH$ma' ^maV _| H$~ AnZm`m J`m?

(A) ~ßJmb {d^mOZ

(B) hmo_ Í$b Am›XmobZ

(C) Agh`moJ Am›XmobZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

67. 1922 _|, Am`mo{OV ^maVr` amÔ¥>r` H$m±J´og Ho$
J`m A{YdoeZ Ho$ A‹`j H$m°Z Wo?

(A) {MŒmaßOZ Xmg

(B) hH$s_ AO_b òm±

(C) _hmÀ_m Jm±Yr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

68. Agh`moJ Am›XmobZ Ho$ Xm°amZ {H$gZo {~hma _|
{H$gmZm| H$s AJwdmB© H$s?

(A) amOHw$_ma ewäb

(B) Òdm_r {d⁄mZ›X

(C) amOo›– ‡gmX

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

69. 1817 _|, H$bH$Œmm _| {h›Xy H$m∞boO H$s
ÒWmnZm {H$gZo H$s?

(A) hoZar {d{d`Z S>oamo{O`mo

(B) S>o{dS> hoAa

(C) OmoZmWZ S>ßH$Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

70. BZ_| go {H$gZo H$hm Wm {H$ ""H$m±J´og H$m _hb
bãS>IãS>m ahm h° Am°a ^maV _| ahVo h˛E _oar EH$
~ãS>r _hŒdmH$mßjm `h h° {H$ _¢ emp›V Ho$ gmW
Bgo _aZo _| gh`moJ Xo gHy±$''?

(A) S>\$[aZ

(B) {_›Q>mo

(C) H$O©Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



PART—III

( SCIENCE )

71. The human eye forms the image

of an object on its

(A) cornea

(B) retina

(C) pupil

(D) More than one of the above

(E) None of the above

72. Soundwaves travel fastest in

(A) solids

(B) liquids

(C) vacuum

(D) More than one of the above

(E) None of the above

73. Transfer of heat by convection

can take place in

(A) solids and liquids

(B) solids and vacuum

(C) gases and liquids

(D) More than one of the above

(E) None of the above

74. The power of a lens is measured

in

(A) dioptre

(B) aeon

(C) candela

(D) More than one of the above

(E) None of the above

75. Lightning can even burn a tree

because it contains tremendous

amount of

(A) heat energy

(B) electric energy

(C) nuclear energy

(D) More than one of the above

(E) None of the above

76. The phenomenon used in optical

fibre for transmission of light

energy is

(A) total internal reflection

(B) diffraction

(C) refraction

(D) More than one of the above

(E) None of the above
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PART—III

( SCIENCE )

71. _mZd Am±I _| {H$gr dÒVw H$m ‡{V{~Â~

~ZVm h°

(A) H$m∞{Z©`m _|

(B) ao{Q>Zm _|

(C) nwVbr _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

72. ‹d{Z-VaßJm| H$m g~go Vrd´ ‡J_Z hmoVm h°

(A) R>mog _|

(B) –d _|

(C) {Zdm©V _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

73. gßdhZ ¤mam D$Ó_m H$m ÒWmZm›VaU hmo gH$Vm h°

(A) R>mog Edß –d _|

(B) R>mog Edß {Zdm©V _|

(C) J°g Edß –d _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

74. bo›g H$s e{∫$ _mnr OmVr h°

(A) S>mBAm∞flQ>a _|

(B) BAZ _|

(C) H¢$S>obm _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

75. V{ãS>V≤ go d•j _| AmJ ^r bJ gH$Vr h°,

ä`m|{H$ Bg_| AÀ`{YH$ _mÃm _| hmoVr h°

(A) D$Ó_r` D$Om©

(B) {d⁄wV≤ D$Om©

(C) Zm{^H$s` D$Om©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

76. ‡H$me D$Om© H$m Am∞pflQ>H$b \$mB~a _| gßMaU

{H$g KQ>Zm Ho$ AZw‡`moJ ¤mam {H$`m OmVm h°?

(A) nyU© AmßV[aH$ namdV©Z

(B) {ddV©Z

(C) AndV©Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



77. Which of the following types of

glass can cut off ultraviolet

rays?

(A) Crookes glass

(B) Jena glass

(C) Pyrex glass

(D) More than one of the above

(E) None of the above

78. The diffusion of light in the

atmosphere takes place due to

(A) carbon dioxide

(B) dust particles

(C) water vapour

(D) More than one of the above

(E) None of the above

79. The velocity of electromagnetic

waves in vacuum is

(A) 3 108´ m/s

(B) 3 107´ m/s

(C) 3 106´ m/s

(D) More than one of the above

(E) None of the above

80. Kepler’s second law is based on

(A) Newton’s first law

(B) Newton’s second law

(C) conservation of angular

momentum

(D) More than one of the above

(E) None of the above

81. Which of the following is not

a vector quantity?

(A) Speed

(B) Displacement

(C) Velocity

(D) More than one of the above

(E) None of the above

82. Solar energy is converted into

electric energy through

(A) voltaic cells

(B) dry cells

(C) photovoltaic cells

(D) More than one of the above

(E) None of the above
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77. {ZÂZ{b{IV _| go H$m±M H$m H$m°Z-gm ‡H$ma

nam~¢JZr {H$aUm| H$mo H$mQ> gH$Vm h°?

(A) H´y$äg H$m±M

(B) OoZm H$m±M

(C) nmBaoäg H$m±M

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

78. dm`w_�S>b _| ‡H$me Ho$ ‡gma H$m H$maU h°

(A) H$m~©Z S>mBAm∞ägmBS>

(B) Yyb H$U

(C) Ob dmÓn

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

79. {d⁄wV≤-MwÂ~H$s` VaßJm| H$m {Zdm©V _| doJ

hmoVm h°

(A) 3 108´ m/s

(B) 3 107´ m/s

(C) 3 106´ m/s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

80. Ho$flba H$m {¤Vr` {Z`_ AmYm[aV h°

(A) ›`yQ>Z Ho$ ‡W_ {Z`_ na

(B) ›`yQ>Z Ho$ {¤Vr` {Z`_ na

(C) H$moUr` gßdoJ Ho$ gßajU na

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

81. {ZÂZ{b{IV _| go H$m°Z-gr g{Xe am{e

Zht h°?

(A) J{V

(B) {dÒWmnZ

(C) doJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

82. gm°a D$Om© H$mo {d⁄wV≤ D$Om© _| {H$gHo$ ¤mam

n[ad{V©V {H$`m OmVm h°?

(A) dmoÎQ>>mBH$ gob

(B) ewÓH$ gob

(C) \$moQ>modmoÎQ>>mBH$ gob

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



83. In which of the following types of

heat engine carburetor is used?

(A) Petrol engine

(B) Diesel engine

(C) Steam engine

(D) More than one of the above

(E) None of the above

84. Which of the following processes

will not produce new magnetic

poles?

(A) Cutting a bar magnet in

half

(B) Turning on a current in

a solenoid

(C) Running a current through

a straight wire

(D) More than one of the above

(E) None of the above

85. Lenz’s law is based on the

conservation of

(A) energy

(B) charge

(C) momentum

(D) More than one of the above

(E) None of the above

86. The poorest conductor of heat

among the following is

(A) copper

(B) lead

(C) mercury

(D) More than one of the above

(E) None of the above

87. The unit of magnetic dipole

moment is

(A) newton/(ampere-metre)

(B) ampere/metre

(C) ampere-metre2

(D) More than one of the above

(E) None of the above

88. The unit of inductance is

(A) ohm-second

(B) ohm/second

(C) second/ohm

(D) More than one of the above

(E) None of the above

89. Cosmic rays are

(A) charged particles

(B) uncharged particles

(C) electromagnetic waves

(D) More than one of the above

(E) None of the above
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83. {ZÂZ{b{IV ‡H$ma Ho$ D$Ó_m BßOZm| _| go {H$g_|

H$m~w©aoQ>a H$m ‡`moJ {H$`m OmVm h°?

(A) noQ¥>mob BßOZ

(B) S>rµOb BßOZ

(C) ^mn BßOZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

84. {ZÂZ{b{IV _| go {H$g {H´$`m go ZE MwÂ~H$s`

Y´wd Zht ~Z|Jo?

(A) MwÂ~H$s` n≈>r H$mo AmYm H$mQ>Zo na

(B) n[aZm{bH$m _| {d⁄wV≤ ‡dm{hV H$aZo na

(C) grYo Vma _| {d⁄wV≤ ‡dm{hV H$aZo na

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

85. bo›µO H$m {Z`_ {H$gHo$ gßajU na AmYm[aV

h°?

(A) D$Om©

(B) Amdoe

(C) gßdoJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

86. {ZÂZ{b{IV _| D$Ó_m H$m g~go A{YH$

Hw$MmbH$ h°

(A) Vm±~m

(B) grgm

(C) nmam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

87. MwÂ~H$s` {¤Y´wd AmKyU© H$m _mÃH$ h°

(A) ›`yQ>Z/(EopÂn`a-_rQ>a)

(B) EopÂn`a/_rQ>a

(C) EopÂn`a-_rQ>a 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

88. ‡oaH$Àd H$m _mÃH$ h°

(A) Amo_-goH$�S>

(B) Amo_/goH$�S>

(C) goH$�S>/Amo_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

89. H$m∞pÒ_H$ {H$aU|

(A) Amdo{eV H$U h°ß

(B) AZmdo{eV H$U h°ß

(C) {d⁄wV≤-MwÂ~H$s` VaßJ h°ß

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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90. Which of the following is not

an electromagnetic wave?

(A) Gamma ray

(B) X-ray

(C) Beta ray

(D) More than one of the above

(E) None of the above

91. On heating, the resistance of

a semiconductor

(A) increases

(B) decreases

(C) remains same

(D) More than one of the above

(E) None of the above

92. Internal energy of a gas in

a cyclic process

(A) increases

(B) decreases

(C) remains unchanged

(D) More than one of the above

(E) None of the above

93. Which of the following is a better

nuclear fuel?

(A) Thorium 236

(B) Uranium 235

(C) Neptunium 239

(D) More than one of the above

(E) None of the above

94. The unit of sound is

(A) hertz

(B) decibel

(C) wave number

(D) More than one of the above

(E) None of the above

95. Domains are formed in which of

the following substances?

(A) Diamagnetic

(B) Paramagnetic

(C) Ferromagnetic

(D) More than one of the above

(E) None of the above
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90. {ZÂZ{b{IV _| go H$m°Z-gr {d⁄wV≤-MwÂ~H$s`

VaßJ Zhrß h°?

(A) Jm_m {H$aU

(B) Eäg-{H$aU

(C) ~rQ>m {H$aU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

91. J_© H$aZo na, EH$ AY©MmbH$ H$m ‡{VamoY

(A) ~ãT>Vm h°

(B) KQ>Vm h°

(C) g_mZ ahVm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

92. MH´$s` ‡H´$_ _| J°g H$s AmßV[aH$ D$Om©

(A) ~ãT>Vr h°

(B) KQ>Vr h°

(C) An[ad{V©V ahVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

93. {ZÂZ{b{IV _| go H$m°Z-gm A¿N>m Zm{^H$s`

B™YZ h°?

(A) Wmo[a`_ 236

(B) `yao{Z`_ 235

(C) Zofl¿`y{Z`_ 239

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

94. ‹d{Z H$s BH$mB© h°

(A) hQ≤>µO©

(B) S>ogr~ob

(C) VaßJ gßª`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

95. S>mo_oZ {ZÂZ{b{IV _oß go {H$g nXmW© _|

~ZVo h¢?

(A) ‡{VMwÂ~H$s`

(B) AZwMwÂ~H$s`

(C) bm°hMwÂ~H$s`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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96. If the speed of sound in air at

0 °C is 332 metres/second, then

at 35 °C the speed of sound in

air will be

(A) 325 metres/second

(B) 353 metres/second

(C) 367 metres/second

(D) More than one of the above

(E) None of the above

97. Which of the following is an

intensive property?

(A) Refractive index

(B) Volume

(C) Mass

(D) More than one of the above

(E) None of the above

98. The decreasing order of second

ionization potential of C, N, O

and F is

(A) O F N C> > >

(B) C N O F> > >

(C) O N F C> > >

(D) More than one of the above

(E) None of the above

99. Which of the following has the

largest size?

(A) Mg

(B) Be

(C) Ra

(D) More than one of the above

(E) None of the above

100. The number of nodal planes in

px -orbital is

(A) 1

(B) 2

(C) 3

(D) More than one of the above

(E) None of the above

101. Hydrogen bonding is strongest

in

(A) C H OC H2 5 2 5

(B) ( )C H N2 5 3

(C) C H OH2 5

(D) More than one of the above

(E) None of the above
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96. `{X 0 °C na dm`w _| ‹d{Z H$s Mmb

332 _rQ>a/goH$�S> h°, Vmo 35 °C na dm`w

_| ‹d{Z H$s Mmb hmoJr

(A) 325 _rQ>a/goH$�S>

(B) 353 _rQ>a/goH$�S>

(C) 367 _rQ>a/goH$�S>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

97. {ZÂZ{b{IV _| go H$m°Z-gm _mÃm-ÒdVßÃ

JwUY_© h°?

(A) AndV©ZmßH$

(B) Am`VZ

(C) –Ï`_mZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

98. C, N, O VWm F _| {¤Vr` Am`ZZ {d^d

H$m KQ>Vm h˛Am H´$_ h°

(A) O F N C> > >

(B) C N O F> > >

(C) O N F C> > >

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

99. {ZÂZ{b{IV _| go {H$gH$m AmH$ma g~go

~ãS>m h°?

(A) Mg

(B) Be

(C) Ra

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

100. px -H$jH$ _| ZmoS>b Vbm| H$s gßª`m h°

(A) 1

(B) 2

(C) 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

101. hmBS¥>moOZ ~ßYZ H$s j_Vm {H$g_| ‡~bV_

hmoJr?

(A) C H OC H2 5 2 5

(B) ( )C H N2 5 3

(C) C H OH2 5

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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102. The oxidation number of iron (Fe)

in sodium nitropruside is

(A) +3

(B) +2

(C) –4

(D) More than one of the above

(E) None of the above

103. How many s and p bonds are in

tetracyanoethylene molecule?

(A) 9s and 9p bonds

(B) 5s and 9p bonds

(C) 9s and 7p bonds

(D) More than one of the above

(E) None of the above

104. Which of the following is

a polyamide?

(A) Nylon

(B) Polythene

(C) Bakelite

(D) More than one of the above

(E) None of the above

105. Which of the following does

not give red precipitate with

ammoniacal cuprous chloride?

(A) C H2 2

(B) C H3 4

(C) CH C C CH3 3— —>

(D) More than one of the above

(E) None of the above

106. Which of the following is the

most stable carbonium ion?

(A) ( )CH C3 3
+

(B) ( )C H C6 5 3
+

(C) CH CH CH2 2= —
+

(D) More than one of the above

(E) None of the above

107. Which of the following is the

strongest acid?

(A) CH CH COOH3 2

(B) CH CHClCOOH3

(C) CH CH CH COOH3 2 2

(D) More than one of the above

(E) None of the above

C C=

C N>

C N>

N C>

N C>
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102. gmo{S>`_ ZmBQ¥>mo‡ygmBS> _| Am`aZ (Fe) H$s

Am∞ägrH$aU gßª`m h°

(A) +3

(B) +2

(C) –4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

103. Q>oQ¥>mgm`ZmoE{WbrZ AUw _| {H$VZo s d p ~ßY

hmoVo h¢?

(A) 9s VWm 9p ~ßY

(B) 5s VWm 9p ~ßY

(C) 9s VWm 7p ~ßY

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

104. {ZÂZ{b{IV _| go H$m°°Z-gm nm∞brEo_mBS> h°?

(A) Zm`bm∞Z

(B) nm∞{bWrZ

(C) ~oHo$bmBQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

105. {ZÂZ{b{IV _| go H$m°Z-gm `m°{JH$

A_mo{Z`m_` ä`y‡g äbmoamBS> Ho$ gmW bmb

Adjon Zhrß XoVm h°?

(A) C H2 2

(B) C H3 4

(C) CH C C CH3 3— —>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

106. {ZÂZ{b{IV _| go H$m°Z-gm gdm©{YH$ ÒWm`r

H$m~m}{Z`_ Am`Z h°?

(A) ( )CH C3 3
+

(B) ( )C H C6 5 3
+

(C) CH CH CH2 2= —
+

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

107. {ZÂZ{b{IV _oß go H$m°Z-gm ‡~bV_ AÂb h°?

(A) CH CH COOH3 2

(B) CH CHClCOOH3

(C) CH CH CH COOH3 2 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

C C=

C N>

C N>

N C>

N C>
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108. Which of the following is

a nucleophilic reagent?

(A) R N3

(B) SO3

(C) NO2
+

(D) More than one of the above

(E) None of the above

109. Markownikoff’s rule is

applicable to which of the

following reactions?

(A) HCl CH CH+ 2 2=

(B) Cl CH CH CH2 3 2+ =

(C) HBr CH CH CH+ 3 2=

(D) More than one of the above

(E) None of the above

110. Isomer of diethyl ether is

(A) ( ) —CH C OH3 3

(B) ( )CH CHOH3 2

(C) ( )C H CHOH2 5 2

(D) More than one of the above

(E) None of the above

111. Which of the following

statements is true?

(A) PH3 is less alkaline as

compared to NH3.

(B) PH3 is more alkaline as

compared to NH3.

(C) PH3 is amphoteric while

NH3 is alkaline.

(D) More than one of the above

(E) None of the above

112. Which of the following does not

give oxygen on heating?

(A) Zn ClO( )3 2

(B) K Cr O2 2 7

(C) ( )NH Cr O4 2 2 7

(D) More than one of the above

(E) None of the above

113. CHCl3 on oxidation gives

(A) phosgene

(B) formic acid

(C) chloropicrin

(D) More than one of the above

(E) None of the above
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108. {ZÂZ{b{IV _| go H$m°Z-gm Zm{^H$ÒZohr

A{^H$_©H$ h°?

(A) R N3

(B) SO3

(C) NO2
+

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

109. _mH$m}ZrH$m∞\$ H$m {Z`_ {ZÂZ{b{IV _oß go {H$g

A{^{H´$`m na bmJy hmoVm h°?

(A) HCl CH CH+ 2 2=

(B) Cl CH CH CH2 3 2+ =

(C) HBr CH CH CH+ 3 2=

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

110. S>mBE{Wb B©Wa H$m g_md`dr h°

(A) ( ) —CH C OH3 3

(B) ( )CH CHOH3 2

(C) ( )C H CHOH2 5 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

111. {ZÂZ{b{IV _| go H$m°Z-gm H$WZ gÀ` h°?

(A) PH3, NH3 H$s Anojm H$_ jmar`

h°ü&

(B) PH3, NH3 H$s Anojm A{YH$ jmar`

h°ü&

(C) PH3 C^`Y_u h° O~{H$ NH3 jmar`

h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

112. {ZÂZ{b{IV _| go H$m°Z-gm J_© H$aZo na

Am∞ägrOZ Zht XoVm h°?

(A) Zn ClO( )3 2

(B) K Cr O2 2 7

(C) ( )NH Cr O4 2 2 7

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

113. CHCl3 Am∞ägrH$aU na XoVm h°

(A) \$m∞ÒOrZ

(B) \$m∞{_©H$ AÂb

(C) äbmoamo{n{H´$Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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114. Which of the following is a

zero-order reaction?

(A) CH COOC H NaOH3 2 5 + ®
C H OH CH COONa2 5 3+

(B) H Cl HCl2 2 2+ ¾ ®¾¾hn

(C) 2 3 2FeCl SnCl+ ¾ ®¾

2 2 4FeCl SnCl+

(D) More than one of the above

(E) None of the above

115. What is aspirin?

(A) Methyl salicylic acid

(B) Acetyl salicylic acid

(C) Acetyl salicylate

(D) More than one of the above

(E) None of the above

116. Which of the following reacts

with aqueous KOH to produce

acetaldehyde?

(A) CH CH Cl3 2

(B) CH CHCl3 2

(C) CH COCl3

(D) More than one of the above

(E) None of the above

117. Which of the following is not

of yellow colour?

(A) Zn Fe CN2 6[ ( ) ]

(B) K Co NO3 2 6[ ( ) ]

(C) ( ) [ ( ) ]NH As Mo O4 3 3 10 4

(D) More than one of the above

(E) None of the above

118. The oxidation number of Cr in

[ ( ) ]Cr NH Cl3 4 2
+ is

(A) +3

(B) +2

(C) +1

(D) More than one of the above

(E) None of the above

119. Which of the following exhibits

optical isomerism?

(A) trans-[ ( ) ]CoNH Cl3 4 2
+

(B) [ ( ) ]Cr H O2 6
3+

(C) cis-[ ( ) ( ) ]CoNH en3 2 2
3+

(D) More than one of the above

(E) None of the above
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114. {ZÂZ{b{IV _oß go ey›` H$mo{Q> H$s A{^{H´$`m

H$m°Z-gr h°?

(A) CH COOC H NaOH3 2 5 + ®
C H OH CH COONa2 5 3+

(B) H Cl HCl2 2 2+ ¾ ®¾¾hn

(C) 2 3 2FeCl SnCl+ ¾ ®¾

2 2 4FeCl SnCl+

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

115. EopÒn[aZ ä`m h°?

(A) _o{Wb g°{b{g{bH$ AÂb

(B) Eo{g{Q>b g°{b{g{bH$ AÂb

(C) Eo{g{Q>b g°{b{gboQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

116. {ZÂZ{b{IV _oß go H$m°Z-gm Obr` KOH go

A{^{H´$`m H$aHo$ Eo{gQ>pÎS>hmBS> ~ZmVm h°?

(A) CH CH Cl3 2

(B) CH CHCl3 2

(C) CH COCl3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

117. {ZÂZ{b{IV _| go H$m°Z-gm `m°{JH$ nrbo aßJ

H$m Zht h°?

(A) Zn Fe CN2 6[ ( ) ]

(B) K Co NO3 2 6[ ( ) ]

(C) ( ) [ ( ) ]NH As Mo O4 3 3 10 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

118. [ ( ) ]Cr NH Cl3 4 2
+ _| Cr H$s Am∞ägrH$aU

gßª`m h°

(A) +3

(B) +2

(C) +1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

119. {ZÂZ{b{IV _|o go H$m°Z-gm ‡H$m{eH$

g_md`dVm Xem©Vm h°?

(A) trans-[ ( ) ]CoNH Cl3 4 2
+

(B) [ ( ) ]Cr H O2 6
3+

(C) cis-[ ( ) ( ) ]CoNH en3 2 2
3+

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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120. The standard electrode potentials

of three alkali metals, viz., X , Y

and Z are –3·05 V, –1·66 V and

–0·40 V respectively. Which of

the following will be the

strongest reducing agent?

(A) X

(B) Y

(C) Z

(D) More than one of the above

(E) None of the above

121. The coordination number of Co

in [ ( ) ]Coen Cl Cl2 2 is

(A) 4

(B) 5

(C) 6

(D) More than one of the above

(E) None of the above

122. Which of the following is picric

acid?

(A) 2,4,6-trinitrophenol

(B) o-aminobenzoic acid

(C) m-nitrobenzoic acid

(D) More than one of the above

(E) None of the above

123. Which of the following vitamins

contains cobalt?

(A) B12

(B) B6

(C) B1

(D) More than one of the above

(E) None of the above

124. In which of the following species

number of s and p bonds is

same?

(A) ( )CN 2

(B) CH CN2 2( )

(C) XeO4

(D) More than one of the above

(E) None of the above

125. Which of the following is not

a steroid hormone?

(A) Thyroxine

(B) Aldosterone

(C) Estrogen

(D) More than one of the above

(E) None of the above



23/MAV/M–2023–08/S3 (S)/115-A 37 [ P.T.O.

120. VrZ jma YmVwAm| X , Y VWm Z Ho$

_mZH$ BboäQ¥>moS> {d^d H´$_eÖ –3·05 V,

–1·66 V VWm –0·40 V h¢ü& BZ_| ‡~bV_

AnMm`H$ H$m°Z h°?

(A) X

(B) Y

(C) Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

121. [ ( ) ]Coen Cl Cl2 2 _| Co H$s g_›d`

gßª`m h°

(A) 4

(B) 5

(C) 6

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

122. {ZÂZ{b{IV _| go H$m°Z-gm {n{H´$H$ AÂb h°?

(A) 2,4,6-Q¥>mBZmBQ¥>mo\$sZm∞b

(B) o-Eo_rZmo~|OmoBH$ AÂb

(C) m-ZmBQ¥>mo~|OmoBH$ AÂb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

123. {ZÂZ{b{IV _| go {H$g {dQ>m{_Z _| H$mo~mÎQ>

hmoVm h°?

(A) B12

(B) B6

(C) B1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

124. {ZÂZ{b{IV _| go {H$g ‡Om{V _| s VWm p
~ßYm| H$s gßª`m g_mZ h°?

(A) ( )CN 2

(B) CH CN2 2( )

(C) XeO4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

125. {ZÂZ{b{IV _| go H$m°Z-gm ÒQ>ram∞BS> hm∞_m}Z

Zht h°?

(A) WmBam∞pägZ

(B) EoÎS>moÒQoamoZ

(C) EÒQ¥>moOoZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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126. The dengue fever is caused by

the bite of which of the following

mosquitoes?

(A) Culex

(B) Aedes

(C) Anopheles

(D) More than one of the above

(E) None of the above

127. The main function of ribosomes

is

(A) photosynthesis

(B) protein synthesis

(C) fat synthesis

(D) More than one of the above

(E) None of the above

128. Which of the following is not

a greenhouse gas?

(A) Methane

(B) Carbon dioxide

(C) Argon

(D) More than one of the above

(E) None of the above

129. Adenosine triphosphate (ATP) is

formed in

(A) mitochondria

(B) ribosomes

(C) Golgi bodies

(D) More than one of the above

(E) None of the above

130. Which of the following mammals

lays eggs?

(A) Echidna

(B) Kangaroo

(C) Loris

(D) More than one of the above

(E) None of the above

131. The proteolytic enzyme renin is

found in

(A) intestinal juice

(B) gastric juice

(C) bile juice

(D) More than one of the above

(E) None of the above
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126. S>|Jy ~wIma {ZÂZ{b{IV _| go {H$g _¿N>a Ho$

H$mQ>Zo go hmoVm h°?

(A) ä`yboäg

(B) ES>rµO

(C) EZm∞\$sbrO

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

127. amB~mogmo_ H$m _wª` H$m`© h°

(A) ‡H$me-gßÌbofU

(B) ‡moQ>rZ gßÌbofU

(C) dgm gßÌbofU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

128. {ZÂZ{b{IV _| go H$m°Z-gr h[aV-J•h J°g

Zht h°?

(A) _rWoZ

(B) H$m~©Z S>mBAm∞ägmBS>

(C) AmJ©Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

129. EoSoZmogrZ Q¥>mB\$m∞Ò\o$Q> (ATP) H$m {Z_m©U

hmoVm h°

(A) _mBQ>moH$m∞p�S¥>`m _|

(B) amB~mogmo_ _|

(C) Jm∞ÎOr H$m` _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

130. {ZÂZ{b{IV _oß go H$m°Z-gm ÒVZYmar AßS>o

XoVm h°?

(A) E{H$S≤>Zm

(B) Hß$JmÍ$

(C) bmo[ag

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

131. ‡mo{Q>Amo{b{Q>H$ E›µOmB_ ao{ZZ nm`m OmVm h°

(A) AmßÃ ag _|

(B) OR>a ag _|

(C) {nŒm ag _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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132. Intercostal muscles occur in

(A) abdomen

(B) diaphragm

(C) ribs

(D) More than one of the above

(E) None of the above

133. Geocarpic fruit is

(A) potato

(B) groundnut

(C) onion

(D) More than one of the above

(E) None of the above

134. Diploid chromosome number in

humans is

(A) 46

(B) 44

(C) 48

(D) More than one of the above

(E) None of the above

135. Floridean starch has the

structure similar to

(A) amylopectin and glycogen

(B) mannitol and algin

(C) laminarin and cellulose

(D) More than one of the above

(E) None of the above

136. Which of the following is

the most abundant protein

in animals?

(A) Lectin

(B) Haemoglobin

(C) Collagen

(D) More than one of the above

(E) None of the above

137. Sun hemp jute is obtained from

(A) leaf

(B) phloem

(C) xylem

(D) More than one of the above

(E) None of the above

138. Identify the basic amino acid

from the following.

(A) Glutamic acid

(B) Lysine

(C) Tyrosine

(D) More than one of the above

(E) None of the above



23/MAV/M–2023–08/S3 (S)/115-A 41 [ P.T.O.

132. AßVamnew©H$ no{e`m± nm`r OmVr h¢

(A) CXa _|

(B) _‹`nQ> _|

(C) ng{b`m| _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

133. ^y{_-\$bZr \$b h°

(A) Amby

(B) _y±J\$br

(C) fl`mO

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

134. _mZdm| _| {¤Jw{UV JwUgyÃm| H$s gßª`m h°

(A) 46

(B) 44

(C) 48

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

135. ‚bmo[aS>r ÒQ>mM© H$s gßaMZm {ZÂZ{b{IV _| go

{H$gHo$ O°gr h°?

(A) E{_bmonopäQ>Z VWm ΩbmBH$moOoZ

(B) _°ZrQ>m∞b VWm Eb{JZ

(C) b°{_Zo[aZ VWm gobwbmog

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

136. O›VwAm| _| {ZÂZ{b{IV _| go H$m°Z-gm ‡moQ>rZ

g~go A{YH$ nm`m OmVm h°?

(A) bopäQ>Z

(B) hr_moΩbmo{~Z

(C) H$mob°OZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

137. gZ hoÂn aoeo ‡m· {H$`o OmVo h¢

(A) nŒmr go

(B) nmofdmh go

(C) XmÈ go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

138. {ZÂZ{b{IV _| jmar` A_rZmo AÂb H$mo

nhMm{ZEü&

(A) ΩbyQ>°{_H$ AÂb

(B) bmBgrZ

(C) Q>mBamogrZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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139. Chemically insulin is a

(A) protein

(B) steroid

(C) carbohydrate

(D) More than one of the above

(E) None of the above

140. Nitrogen is not an essential

constituent of

(A) chlorophyll

(B) RNA

(C) carbohydrate

(D) More than one of the above

(E) None of the above

141. Which one of the following is

a hereditary disease?

(A) Cataract

(B) Leprosy

(C) Phenylketonuria

(D) More than one of the above

(E) None of the above

142. DNA is mainly found in

(A) nucleus

(B) cytoplasm

(C) nucleolus

(D) More than one of the above

(E) None of the above

143. RQ is

(A) C/N

(B) N/C

(C) CO2/O2

(D) More than one of the above

(E) None of the above

144. Which of the following is not

a plant hormone?

(A) Gibberellin

(B) Indole acetic acid (IAA)

(C) Florigen

(D) More than one of the above

(E) None of the above
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139. amgm`{ZH$ Í$n _| B›gw{bZ h°, EH$

(A) ‡moQ>rZ

(B) ÒQ>ram∞`S>

(C) H$m~m}hmBS¥>oQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

140. ZmBQ¥>moOZ EH$ AmdÌ`H$ Ad`d Zht h°

(A) äbmoamo{\$b H$m

(B) RNA H$m

(C) H$m~m}hmBS¥>oQ> H$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

141. {ZÂZ{b{IV _| go H$m°Z-gr AmZwdß{eH$

~r_mar h°?

(A) _mo{V`mq~X

(B) H$moãT>

(C) \o${ZbH$sQ>mo›`y[a`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

142. DNA _wª`VÖ nm`m OmVm h°

(A) Ho$›–H$ _|

(B) gmBQ>moflbmµµ¡_ _|

(C) ›`ypäbAmobg _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

143. RQ h°

(A) C/N

(B) N/C

(C) CO2/O2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

144. {ZÂZ{b{IV _| go H$m°Z-gm nmXn hm∞_m}Z

Zht h°?

(A) {O~ao{bZ

(B) BßS>mob Egr{Q>H$ AÂb (IAA)

(C) ‚bmo[aOoZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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145. What are plant pigments?

(A) Chromoprotein

(B) Glycoprotein

(C) Flavoprotein

(D) More than one of the above

(E) None of the above

146. Botulism is

(A) food-borne infection

(B) food-borne intoxication

(C) water-borne infection

(D) More than one of the above

(E) None of the above

147. The basic unit of nucleic acid is

(A) nucleotide

(B) nucleoside

(C) nucleoid

(D) More than one of the above

(E) None of the above

148. Antibodies in our body are

complex

(A) steroids

(B) prostaglandins

(C) glycoproteins

(D) More than one of the above

(E) None of the above

149. Which of the following is not

an autoimmune disease?

(A) Psoriasis

(B) Alzheimer’s disease

(C) Vitiligo

(D) More than one of the above

(E) None of the above

150. Agar-agar is obtained from

(A) Gelidium

(B) Ulothrix

(C) Sargassum

(D) More than one of the above

(E) None of the above
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145. nmXn dU©H$ ä`m h°ß?

(A) H´$mo_mo‡moQ>rZ

(B) ΩbmBH$mo‡moQ>rZ

(C) ‚b°dmo‡moQ>rZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

146. ~mQw>{bµµ¡_ h°

(A) ^mo¡` nXmW© go hmoZo dmbm gßH´$_U

(B) ^mo¡` nXmW© go hmoZo dmbm {df°bmnZ

(C) Ob-O{ZV gßH´$_U

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

147. ›`ypäbH$ AÂb H$m AmYmar EH$H$ h°

(A) ›`ypäbAmoQ>mBS>

(B) ›`ypäbAmogmBS>

(C) ›`ypäbAm∞BS>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

148. h_mao eara _| CnpÒWV ‡{Vajr h¢ O{Q>b

(A) ÒQ>oam∞`S>

(B) ‡moÒQ>°Ωb°Z{S>Z

(C) ΩbmBH$mo‡moQ>rZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

149. {ZÂZ{b{IV _| go H$m°Z-gm Òd‡{Va{jV amoJ

Zht h°?

(A) gmo[a`m{gg

(B) AÎOmB_a ~r_mar

(C) {d{Q>{bJmo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

150. EoJma-EoJma ‡m· hmoVm h°

(A) Oo{b{S>`_ go

(B) `ybmo{W´äg go

(C) gaJmg_ go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



23/MAV/M–2023–08/S3 (S)/115-A 46

SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ



SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ

H H H

23/MAV/M–2023–08/S3 (S)/115-A 47 [ P.T.O.



23/MAV/M–2023–08 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

^mfm, gm_m›` A‹``Z Am°a {dkmZ

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe

1. `h ‡ÌZ-nwpÒVH$m VrZ ^mJm| _| {d^m{OV h°çç^mJ–I, ^mJçII Edß ^mJçIIIü& ^mJçI _| ^mfm (Ah©Vm) Ho$ ‡ÌZ h¢, ^mJçII _|
gm_m›`  A‹``Z Ho$  ‡ÌZ  h¢  VWm  ^mJçIII _| {dkmZ Ho$  ‡ÌZ  h¢ü&

2. ^mJçI _| ‡ÌZ gßª`m 1 go 30, ^mJçII _| ‡ÌZ gßª`m 31 go 70 VWm ^mJçIII _| ‡ÌZ gßª`m 71 go 150 VH$ h¢ü& ^mJçII VWm
^mJçIII _|  ‡ÌZ  Am°a  CZHo$  CŒma  AßJ´oOr  Edß  {h›Xr  _|  _w{–V  h¢ü&

3. g^r ‡ÌZm|  H$m  AßH$  g_mZ  h°ü&

4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm
_w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gß0 46 Am°a 47) g{hV nyao 48 _w{–V n•> h¢ Am°a H$moB©
‡ÌZ `m n•> {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _| {H$gr ‡H$ma H$s Ãw{Q> nmZo na VÀH$mb
BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&

6. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo drjH$ ¤mam AbJ go CŒma nÃH$ {X`m Om`oJmü& AnZo CŒma nÃH$ Ho$ n•>-1 na {ZYm©[aV ÒWmZ _|
AnZm Zm_ VWm  A›`  {ddaU  AdÌ`  {bI|  A›`Wm  AmnH$m CŒma nÃH$  Om±Mm Zht Om`oJmü&

7. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go AdÌ`
Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma nÃH$ H$m ghr
_yÎ`mßH$Z Zht hmoJmü&

8. ‡À`oH$ ‡ÌZ Ho$ nm±M CŒmaçç(A), (B), (C), (D) Am°a (E) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a
AnZo CŒma nÃH$ na Aß{H$V  H$a|ü&  AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$  _|  Aß{H$V ghr CŒmam| na {Z^©a  H$aoJmü&

9. CŒma nÃH$ _| ‡À`oH$ ‡ÌZ gßª`m Ho$ gm_Zo nm±M d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$
CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _| {ZemZ bJmVo h¢,
Vmo AmnH$m CŒma JbV _mZm Om`oJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

10. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha
H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m AnZo gmW
bo OmZo H$s AZw_{V  h°ü&

11. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm AmnH$mo
X�S>  {X`m  Om gH$Vm h°ü&

12. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr narjmH$j
H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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